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< Faov XIEREEEE GIZA++
><| <® The 0.46
Thenylon ||+-rO> The |0.05
<@ nylon 0.12
>0 nylon| 0.32

XERT L —XWEHER (HE) OFHE
YWERT L —XNEHEER = log2(“ZD | The"DGIZA++)
+log2(“> 1O | nylon"MGIZA++)
=-0.80 + -0.50
=-1.30

O 26:000000000000000000
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WERIL—X SR AR
The nylon | IsizReazz GIZA++
/ | The <€D 0.46
€D FAOY| \The F-rOY |0.16
nylon <€® 0.17
nylon -2 |0.78

>¢

XERT L — AR (RH) OEHE
YWERT L — XK = log2(“The | ZD"DGIZA++)
+log2(“nylon | 1O 2"MDGIZA++)
=-0.34 +-0.11
=-0.45

O27n-000000000000D000DO0OO0

246 UU00OUOOOLOOOLOOOOOO

ggbbbuooodgbobbbuoouooobbbooooobbboooobon

ggbbobuggobbobuoooobbbdooobobbboooobbobboooobbn
gogob 280000
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XIERX

BAZERX HERIRX
ZDOFrOVIFIEHMH | The nylon is made form
KDESND, Crude oil.

WERIL—X
HAEIL—X| ®EIL—X
Zz0 The Ry
Z® FrO~ | The nylon
[FH crude oil
\4
AICE DRI —Y
HAZES /I — REEN )\ —
X00 O (FRHA X00 nylon is made form
KDESND, crude oil.
X00 (& [RfA X00 is made from
KDESND, crude oil.
Z® F-r0OY (E X00 |The nylon is made from
LEDIEEN B, X00 .
X00 1O (£ X01 |X00 nylon is made from
LEDIEEN B, X01.
X00 (& X01 X00 is made from
LEDIEEN B, X01 .

U028 000000000000000

ggboobouoooooo

gogbbbuoogobbooooobobooooboboboooobbbuoooobooon
gogbbobuoggoboboooobbboooobbboooobobbuooooboobon
gogboboboogobobboooobbbdoooobobboooobobbuoooonobon
gobogobooboodbbuooobuobbooboobbuoobobooobboobba
goboboboooobobooboooobbboooobbboooobobbuoooonoon

gobboboooobobobooooboo

gbbogooboobboobooobo29bboobbooboooboobbod
gb2io0boobobobobooboobobooboboboobobobobon
0((R2)000000000000000000000O00OOO0O0OD0O0O0OO0 3)000OO
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BcED NRX/5 =V Dbl XIEREFERE
X00 (F il & D F5Nd, XIEREEEE GIZA++
| 13 E 0.15
X00 is made from crude oil . R crude oil 0.33
KD from 0.02
fE5N3 made 0.46

K

HELMBDOINER/NE — VU EHERDHE
WERT L — X WEEER = log2(“(d | is"DGIZA++)
+log2(“[RA |crude oil "MDGIZA++)
+log2(“& D | from”MDGIZA++)
+log2(“YE5 1.3 | made "DGIZA++)

=082 +-048+-1.70 +-0.33 + - - -
= 12,54

029 0000000000000000O0O0O0

JoJIn-1,J Xo T X N1\
lOgQP(E0~~~EM_1,EX0~--EXM_1) —

SN ard max(loga (p( Bl 1)) + loga(p(J| En)))  (2)
Jn;DDDmEIODDDDDDDDDD N;OOoOooooo

F,, 0000000000000 M;O000000

p(Jn|Ep); 000 E, 00000 J,00000000 (GIZA++00O)
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AICED SHER/IE — Y D0f X EREEER Y E
X00 is made from crude oil . NEREAEE GlZA++
Is & 0.35
X00 ($ Bl & D 1E5NB crude oil [FRH 0.41
from NS 0.15
made {E5ND 0.32

K

/

REHBMBDOINER/IE — VB HERDHE
WER T L —XW#EEER = log2(is | (X"DGIZA++)
+log2(“crude oil| [RA” DGIZA++)
+log2(“from | KD "DGIZA++)
+log2(“made | fE5N D" DGIZA++)

=0.45 +-0.39 + -0.82 + -0.49 + - - -
= .9.85

0210 0000000000000O00O00D0O0

JoJIn-1,J Xo T X N1\
lOgQP(E0~~~EM_1,EX0~--EXM_1) —

SN arg max(loga(p(Jul Em)) + loga(p(Em| 1)) (3)
Jn;DDDmEODDDDDDDDDD N;OOoOooooo

F,, 0000000000000 M;O000000

p(Jn|Ep); 000 E, 00000 J,00000000 (GIZA++00O)

ggbbobuoogobobodao

000000000000oo0o00o00ooooO (Dooo)booooooooo
gbobobobuoobobuoobobuoobbuool obboobboobboob"oooon
gogboboboooobboboooobboboooobn 211
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AICEDSHERX /S —VFEE

HARZEX/N9—>

WE/NY—Y

X00 10OV |F [E3H

X00 nylon is made form

FYUELN B, crude oil.
X00 (& [FE3Hh X00 is made from
SYUELN B, crude oil.
€D FA4OY [ X00| The nylon is made from
SUESEN S, X00 .
X00 F4OY {F X01 | X00 nylon is made from
SUESEN S, X01 .
X00 (& X01 X00 is made from
SUESEN S, X01 .
YHER BRI E
HAGEHIE  HEBHIE | GIZA++
- D The 0.490
+4ar nylon 0.563
[ crude oil | 0.178
A4

BUCE DR/ —VEEE

HAREXX/NF—> HKEESL/NY—> WER /NG —>
SE xH

X00 F40OY |& [EA | X00 nylon is made form | -73.66 | -56.45

SYUESN B, crude oil.

X00 (% &/ X00 is made from -12.54 | -9.85

SYUESN D, crude oil.

€D FAAY (£ X00| The nylonis made from [-19.88 | -17.62

SYUESN B, X00 .

X00 74O (& X01 | X00 nylon is made from [-20.30 | -21.21

LYUELN B, X01.

X00 (¥ X01 X00 is made from -23.66 -23.26

SYUELN B, X01 .

0211 00000000000000000
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247 OOOooog

gbbodbbodgbbodgbbogbooobuooboboobobuoobbuoobbd

gugbbbuooobbobuoooobbbduoobobbboooobobbbouooobbn
ggboobdogg 2120000

ANX
D FrOY (FEHE KDIESND
BCEDHWRI/NI—VEFE
HAREEZ /NS —V WEEN /I — WERSC /S — S ERERa
=k xH
< X003 Em&LD X00 is made from | -12.54 -9.85
fE5NS, crude oil.
SERT L — XEeE
HAEIL—X| BEIL—X WRTL— 0B
il =ES HH
<O F-rOY | The nylon -1.16 -1.07
v ZM >0~ | This nylon -1.30 -1.27
H IR

The nylon is made from crude oil .
This nylon is made from crude oil .

[EEE-'E?)b(tri—gram)y = Ylog2(P(w3 | w1l w?2)) ]

[MAX(a + B+ y)]

v

3

The nylon is made from crude oil.

0212 0000000040

a)J00000000000D0000

gobbbugobobbooogbobbuoooobbbuoooobbbuooobobn
ggbbobuooogbbboooobbbooogbon

27



b)DOOooooo

gobbobuogoobbooooobobuoooobbbuoooobobbouoobon
ggbbobuoooob,gbbobooogbob

c)000000

00000000000 (e)0000000DO0O0O0O0ODOODOODODODOODOOO (B
)yOoOOoOoOOO (tii-gram)(y )DO0O00000O0O0OO0O0OOOOOOODOODOOODODO
ggbbbuoooobbboooooboodg® gob"booodaboboobo
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3.1 ODOO0oood

Pattern Based SMT O OO UOO0OOOODOOOOODOOODOODOOODOODOODODOO
gboogbdgboboboobooooboobooboboobuooboboobogon
o0bo0ooooboooDb GlIZA++00O0ooooboooobooboooobobooboo
gogbobobboogoobobooodoboobbuooooboobobbboooooboon
goon
gogboboboogobobboooobbbdoooobobboooobobbuoooonobon
ooooooboooooooobo GlZA++0o0oooooooboooooooooooooo
000GIZA++0 000000 0oboooogoooobooobooboboobooboo
gobobobogoobobooboooobbboooobbboooobobbooooonoon
gbogoogboob

3.1.1 Pattern Based SMT OO OO

Pattern Based SMTO OO OUOOO0OO0OO0OOO0OO0OOOOODOOOOODOOOOO
ggbbobugoobbbuoooobbbooobobbboooobobboooobbn
oooooooooooODOODODOODOD GIZA++O0000000OD0DODO0000000
Ooooooo0oo GlZA++00oooodooooooooooobooooooooDooo
gogbbobugobbboooobbbuoooobbouooobobbooad
ggbbobuoooobbbuoooobbbuoooobbs1gdoo
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U3l:0000d0bbboggdobobodgodgoooo

ooo OO0 0o0DoDoooDooooO0Oao

oono The terms were finally agreed to .
oooooooo N02 0 NOONO4 O NO3 O NO1 O O
oooooon I001al03to0 02byd 000 04.
ooooooooooo OO0 0ooooooooooaoao
doooooooon I sent a book to her by parcel post .

goo I read a agreement to Ultimately by terms sides
ooooomoog -8.745

ooooolmooo -3.822

Pattern Based SMT OO DOOOOOOOOOOOODOOOOODOODOOOOODOOO
liobgobooobuoobboobimobboobboobbooo-s4o00n00DO
gbobobobobooibboobobooobobobooboboboobon
ggooobod

3.2 U0OUoobouobouoboon

ggbbbuodgbobbooodgbobbuoooobbbuoooobbbooobobn
ggbbobooogbbbooooobbo
0000000oooopooooo0oU0OoUoooooDooooOoO 3)ooooooo

g3libuogggbbobugoobbodn

JOMJNfl,JXo'“JXNfl —
ZOQQP(EO-"E]W,l,EXO“'EX]\/[fl) o

N-Mloga(p(JXn|EX,)))  (3)
JX,; O0Ooooooooooooooooooo

EX,; 0000000000000 000o00
p(JX,|EX,); 000000 EX, 00000000 JX, 00000000 ((QOOOOOODO)
N;OOoooooog
O000000000000oDooooo00o 4oooo
logs P(Fp=t) =
N-Loga(p(Ju|Em)) + loga(p(Em|Jn)))  (4)
J,,000gogd v;Oooooooo

E,;00000 M0O0O00O0O
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p(Ju|E,):; 000 E, 00000 J,00000000 (GIZA++00)

AICED SR —
/\/16 N2 N3, (ZDF1OVIFEHRMNSIESNTULSD, )

N1 N3 N2 .(The nylon is made from crude oil.)

WERO L —XFE
HRIL—2Z R TL— 2
SEEEE (log2{H)
Z® F-rOY The nylon -1.30
M5 ES5NTLS is made from| -1.71
[3H crude oil -2.40

Y

W/ —V OBEREDEE
WERIZ/F — >~ DREZ(E = log2(* £ F-rO>|The nylon”
DXERT L — THEXR)
+log2(“*H'5 fE5 N TL B is made from "
DR T L — XHER)
+log2(“[R’A|crude oil”
DR T L — XRER)

=-541

g3l 0b0u0daoboo
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4.1 0OO0OOOO

gobbbuoggobboooooobooooboboboooobobbuooooon
O[7fo0o0o00000000O0000O00ooO0o00oDooOOooDoooOoooooO

gogbboboogobboboooob 410000

0 41: 00000
000 | 100,000 00

goo 100 O

gboboobgoobooboobb4200430000
042 00000

aooo
oooono gooad
O0D0OD0ODOO0O0OOOD0O0OO0O DO O | Heis far superior in English to me .
oo oooooooonooad Let’s eradicate vice from this town .
00dodooooo oo The mind expands with experience .

043 00000

ooo
oooo ooo
O00O0O0o0oo0o0DobOOobDooo oo He was hidden by the darkness .
00000 00D0O0OO00D0D0OO0OOd O |Ialways keep a dictionary at hand .
00 00O O00O0D0Ooooo oo The children disappeared to their bedrooms .

4.2 0O0O0OO

ggbobbbooooobobtoooooobobobobboooogogobon
giogobooo
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4.2.1 0O0O0O0O0O

goboooboooobooooooooobooboooob200 Pattern Based SMT
gbobogbuogbbuobbugbbooobbooobbuoobbooobooobbd
gbooobooboboboboooonoo 440000000 4500 4600 4.700 4.80

049004100000

044 0000000
00000 |O0000Oo0 |0O00O |O00ODOO

12 11 23 o4
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4.2.2 0O0000o00

045 00000001

goo Ooooooooooooooaoad
ooo oo
ooad He shoved the book into my bag .
gooooooo NO4 O NO3 NOONO2OO 0O O No1O O
0
u
goooooad NO4 NO1 NO3 into NOO NO2 .
O
0
ooood 000o0o0OD0D0O0O000ooD oo
good They jostled him into the castle .
NO0O 0 0 my
NO1 0000 stuffed
NO02 000 bag
NO3 00 O O the book
N04 O He
goooooo -17.290790
ogoogo -26.922323
ogooooooo -121.664923
oono He stuffed the book into my bag .
oooooooo NO4O No3No200O0O O O O NOONOt
t t
0
OoooooOo N02 N0O N01 N03 in NOj bag .
0
u
ogoogo Ooooooooooooooo oo
gooad He put his wallet in his bag .
NO0O 0000 stuffed
NO1 0 is
NO02 ool
NO3 OO0 O O the book
N04 O his
oo0ooooo -18.463365
ooood -38.375487
oooooooo -104.999003
ooo I stuffed is the book in his bag .

g4s0000000000000O0DO0OOO0OOOOODbOOoObO0ODDbOn
gbgoboobobboboobuoobooboobobboboobooboon
gbgoboobobboboobuoobooboobobboboobooboon
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goboonNoi00D000DhisOONo2ODOODOOOhelOODOOOODOOODOOOODOO
gbobogdgbbuogbobbodgbbooooobbobbuooobbuoobboodgad

ggbbobuooobboooobbboood
046: 0000000 2

ood do0oooooooooooooaa
Oooooao
ood There were no markings on the plane .
oooooooog NOo3DO O 0O No20O NO1 N0ooO O
O
O
ooooooo NO3 N01 N0OO NO2 .
O
O
ooooo 00000 poOoo0ooooooo g
ad
good The criminal left no clue .
NOO O 0 000 not
NO1 00 took
NO2 000 Mark
NO3 OO0 OO0 O The plane
ooooooo -50.856352
ooooo -51.369999
oooooooog -143.609640
ooad The plane took not Mark .
ooooooaad NO3 NO1 N020O O No40O NooOOO O
O ad
O
ooooooo NO3 NOO no NO4J NO2 NOI .
O
O
ooooo 00OooDoooooDoDooooad
oo oo
oood He made no comment on it .
NO0O OO0 O O was on
NO1 000 plane
NO2 O O the
NO03 ool
NO4 000 Mark
ooooooo -35.247032
ooooo -72.108856
oooooooog -143.694223
goo I was on no Mark the plane .

g4e60000000DO0DODODODODOOOOODOOODOODODODOOOOO
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ggbbobuggobbobuoooobbbdooobobbboooobbobboooobbn
gbooobobooooboooobooobobobobooobIioooobobobon
gugbbbugoobbobuoooobbbduoobobbboooobbobbouooobobn

ggbbobugbuoooobbbuoooobbbuooobobbod
47000000003

odno 0000 oooooooooo o
odno Your actions are not in accordance with
cominon sense .
doooooon NO1 No20O NOSNooODOO OO0 O
O
O
ooooooo NO1 N0O2 is out NOO NOS .
O
O
oooono 00 dodo00ODoooobobo oo o
oodn The piano is out of tune .
NO0O O of the
NO1 0O O Your
NO02 00 act
NO03 00 common
ooooooo -17.411779
oooono -52.356724
ooooooon -63.620014
ooad Your act is out of the common .
Joooooon NOOO N020O NO3 NO1 No4O OO O
O
O
ooooooo NOO NO2is NO4 NO1 NOS .
O
O
oooono godooobODoOoDoDDOOoooao
ooon Your idea is similar to mine .
NOO O Your
NO1 0 ina
NO2 OO0 act
NO3 00O sense
NO04 000 off
ooooooo -16.397056
oooon -38.531129
doooooon -68.963852
oon Your act is off in a sense .

g4rogobooboooboobboobooobooboobboobobon
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ggbbobuggobbobuoooobbbdooobobbboooobbobboooobbn
gugbbbuooobbobuoooobbbduoobobbboooobobbbouooobbn
gugbbbuooobbobuoooobbbduoobobbboooobobbbouooobbn
ggbbobuoooobboboooon

4.2.3 0O000Oo00O0

048: 00000001

oogd 00 0000 000 og

odn She peered hard down the corridor .
ooooooon NOONO1OOO ODODO O 0

O

O
ooooooo He stared at me hard N0I NOO .

O

O
oooond 0000000 oogoao
oodn He stared at me hard for a moment .
NOO 00 corridor
NO1 0 on the
oonooooo -32.988423
ooooag -11.177805
ooooooaad -37.261191
ooad He stared at me hard on the corridor .
oooooooo NOoIDO OO0 OO0 Nood

O

O
ooooooo NOO gazed at the NOI .

O

O
ooooo 00000000 odo oo
good We gazed at the distant shore .
NO0O Ol
NO1 00 hall
ooooooo -22.140954
ooooo -12.071409
ooooooDon -28.290798

ugoo

I gazed at the hall .

0480 0000000000000 OO0O0O0OO0OLOOLOODLOObOOOOOOODOO
gboobooolbobobobooobooobooboooboobooooooobooobooobooon
gbogoboobobboboobuoobooboobobboboobooboon
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ggbbobuggobbobuoooobbbdooobobbboooobbobboooobbn
gobooboobogoboobonNODDUOb0ODOfor0000DOo0o0ooooboooog

ggbbbugoobbbodooobobobbboooobobboooobobo
049 0000000 2

ooOd 0o0obooooooood
ood He attracted my attention .
ooooooog 0 0 0 0O No1INooNo2O O
O
O
ooooooon He N0O2 NOO NO1 .
O
O
ooooo 0o0oo0oo0oooooogoao
oo He hurt my pride .
NO0O O his
NO1 00 attention
NO02 00 drew
ooooooo -17.881104
ooooo -14.232825
ooooooog -18.586920
ooo He drew his attention .
oooooood 0 d No2O NooO No1O O
O
O
ooooooo He NO1 his NOO to NO2 .
O
O
ooooo O00000odbooooao
gooad He indicated his resolve to resign .
NO0O 00O attention
NO1 00 drew
NO02 0 me
ooooooon -22.475558
oooog -11.384461
ooooooog -25.077716

uoo

He drew his attention to me .

g490d0opbobbbouodooooobobbobbbobouooooooboon
gbobooooboboboobobooboboooobobooobobognNoob OO
O0hisOOO0O00OO00O0DOOO0O0O0ObO0OO00o0bOobooooooonNoDODDOoD
gobobobobobooooobobooooboboboooobo
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0 4.10: J000o OO0 3

o0od 000000000 ooaoo
odn I watched television between work .
oooooood NO3O N020O NO1O NooO O
O
O
ooooooo NOO NO1 NO3 N0O2 .
O
O
ooooo 0000000 o0oog
o000 He kissed her mouth .
NOO 0 Look
NO1 ooo Tv
NO02 0 0O intervals
NO3 00 work
ooooooo -21.757533
ooooad -22.270473
oooooogo -108.024678
oon Look TV work intervals .
oooooooo NO3O N020O NO1O NooO O
O
O
oonooooo 1 NOO a NO1 for my NO3 NO2 .
O
O
ooooo 00 00O0Oopooo o0oobooooad
o0 oo
good I got a sweater for my birthday present .
NOO 0 saw
NO1 ooo Tv
NO02 0 0O intervals
NO03 00 work
ooooooo -26.768407
ooooad -12.919711
oooooogo -119.287604
goo I saw a TV for my work intervals .

g4iooboboobbuogobooobboooobbooobooobboobn
gobbobuogoobboboooobbboooobbbooooobobouooonboon
gogbbobuogoobbobuoooobobbuoooobobbooooobobbouooonoon
gbooboobooboobuoobooboobooboonD NoooDOoobOHeO
gbogbogbboobogbboogobooboboboobouoobooboooon
gogbbobuoggobooboooobbbuoooobbbooooobobbouoooobooon
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ggbbobuggobbobuoooobbbdooobobbboooobbobboooobbn

ggbbobuoogobboboooon
0411 000001

ooOd obo0oo0boooogao
ood The disease requires lengthy treatment .
ooooooog o0 NooO No20O NoiO
O
O
oooooono This NOO N02 NO1 .
O
O
ooooo 00 0obo obb0obbo booDobo
oo o
gooad This toy car moves by a spring .
ooo This disease cure 0 00O .
oooooood 00 NooO NoiO No2O
O
O
gooooon The N0OO NO1 NO2 .
O
O
ooooo o0 ooooooobbooobooboo
Ooooooao
gooad The two languages have a common linguis-
tic parent .
oon The disease cure O O O .
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0 4.12:. 00000 2

goo o0 ooooobDooooogoo
0O oo o
ood Mill flat surface to size .
oo0oooood NO6 N02 No5 0 NO70 N030O NO4 NOO
0 NO1 0O
O
oo0ooooon NO1 NO6 NO4 NO3 N0OO NO7 NO2 NO5 .
O
0
ogooogao 000 o0dooooooobobooooad
0o
oood The lawyer produced evidence in favor of
the accused .
oono Surface overran [0 00 O O surface in the
flat of metric .
oooooooo NO6 N02 No5 0 NO70 N030O NO4 NOO
0 NO1 0O
u
ooooooon NO6 NO4 NO3 NO1 NO7 NOO NO2 NO5 .
O
0
ooood 000 o0oo0ooODOooOooooDooao
0o
oood The lawyer produced evidence in favor of
the accused .
oono Everybody 0 0 OO surface Surface flat
on the metric .
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0 4.13: 000003

oo godo oo O oo oo oo oo a
ood He can’t cut this kind of situation well .
oooooooo NO3 No20O OO0 NOI NOoO
0
0
ooooooo NO3 NO1 NOO NO2 .
a
O
goooad 00oouoouooooooo oo
good He dodged the question .
ood Such O O not serious .
ogooooooo NO03 N02 NO1 NOo4 Noo OO OO O
0
a
ooooooo NO3 cannot NOO NO1 NO2 NOJ .
0
0
goood goooobooooubbooodad
ooon He cannot travel in the present condition
ooo Such cannot O O the situation well .
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5.1 UO0OOOOO0OO

Pattern Based SMT O OO UOO0OOOODOOOOODOOODOODOOODOODOODODOO
000000000000 0DO0000b0OD0O GIZA++00O0bOooooooooo
gobbobooooboboooobobboooobobboooobobbouooonboon
gogboobboboboooobbboooobon
gogbboboggoboboooobbboooobbboooobobbouooooboon
ooooooboooooooobo GlZA++0ooooooooboooooooooooooo
000 GIZA++0 000000 0obooooooobobooobooboboobooboo
gobobobogoobbooboooobbboooobbboooobbbouoooonoon
gogooboogn
gbooobobobobooobobobooboboooboboboeobO0onoOobOOn
o dobuoobobbOOobOO0obOO0obOo0bOobObobboboobooboon
gbooboobooboon

5.2 mosesUUOOOOOOOOOOON

gobbbuogoobbooooooboooobobboooobbbuoooobooon
O0000000000000000000000000000Omosesl6]00000O0O

b loobbooodbbbioodddditimoesesdddnooogs10000
U s51: 00000

0 N-gram 5
alignment intersection
ooo 100,000 O O
devOd OO 100,000 O O
oooood 100 O
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5.2.1 mosesU OO OONO

Us2000000mesesOU0O0OOOOI000000000000000O0O.

O 5.2:mosesO0O0O0OOOO
OO000Oo | moseso gooQo (ogd

27 18 2 23

5.2.2 mosesUDOOOOOOOOONONO

Us520000moeses0 000000000 O0O0OOOS30000

U 53 mosesUUO0OODOOOOOOOOOU
goodoo gooogbooao

ood A major fire broke out
00000 (ODO) | There happened great fire .
00000 (moses) | A big fire broke out .

5.23 UU0OUOOOmosesUUIOODOOON

052000000000 mesesd 000000000 540000

054 00000moses 0000000
gogobg gbogoboooodg

goo Excuse me , I must be going now .
00000 (00) | I'msorry , but I must be leaving now .
00000 (moses) | You go first .

5.3 UUOoooond

subboobobuoobbuoobbuodbbodbboobboudibdlmoses 00
gbobogbodbbooggubbod27dbdbibdoe b 1800000 b.20000
UooddbUDmoeses000O0OOOO0OODOOOOOO
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54 UOUO0OOU0OOOOOOOOOOO

00000000000 000000000000000000000000000
0000000000000000000000000000000000000000
00000000000 0000000000000000000000000000
0000000000000000000000 J,0UX,0,00000000 EOEX,

UE, 0000000 00booboonboonDo

( J1JX1Jo )
E1EX1E>

= arg maX((Pé—ll,(Pg—;)) X arg max((Pé—i),(Pé—Z))

0000P(L/EEX,E)00000 P(J,/E)OP(J,/E,) 000000000000
00O0O0P(J,/E)OP(J,/E)00000000000000000000000000
gooooboobbobbooooboobbbbooooo

(P(J1/Ev) + P(J1/Ez)) x (P(J2/Ey) + P(J2/Ez))

gooooooobon
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el UOOMO

O00D00O0OPattern Based SMTOODOOODOODOOODOOODOODOOOOODODOO
o0booooboobo GlZA++0O0oooobooobbooboooobbooboo
goboodbogobboobobooobboobbobbuooobbuoobbmobon
gobboobobobodgoobbbuoobobbboooobbibdd mosestd OO
gogobobboobbooooobobboooooboobobbbbuoooooboon
gogbboboooobbboooobobobuoooobobboooooobooo
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HRN

gogbbobbooggoboobbbouooogbbbbouooobbboooooboon
go0oobooboobobooooobobo cobobobobobooboobooboboog
gogobbbobobbdooooobobboobooooobobobboooooboo
goo0obo0obOoO0ooO0obO0obOoOoobDOoboboooocobobooboobooboobooo
gogbbbuoooobobboooboooobboboooobon
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